
MAT 011, Exam #4 Name

L Factor each po nomial completely.
zB (X:r.tXf*e)

b .  4 ( a + 3 )  - a + 3) (tt^1)(rita)
c .  g x 3  + 3 9 i  t2x 3r(3*'+t3 r+\) : (ar*r)( r t \ )
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(u- \O(a-r)

a. xz + Lrx
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l .  g tz  -  2ss2
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c. x(x - 70)
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ufb$-^2ty
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2. Solve the eq n .
a. 3x(x + 1)( - 2 ) = o  X - o ,  X = - l  I
b .  x 2  + B x + 7 - 0 (x+TXx* r)'D

yL- luf + \b'o X;
4
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3. Find two ve positive integers whose product is 3

X(rt I
4. An object is d f rom the top of the Woolworth Bui

=3W X'+ 't-3T'o (

object t seconds is given by the equatio
object reaches the ground?

) 'o L'e t=q1

The height h of
seconds before
-tbrk-q
The width of a
d imensions of

1 q
ngle is four inches less than its length.

rectangle.
5 .

6. Find the le of the sides of a r iglht  t r iangle i f  the
shorter leg and cm longer than the longer leg.
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h = -L6t2 + 784.  How many


